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1. Which type of inverter configuration requires multiple switches to be operated
simultaneously to produce an AC output?

a) Single-phase series resonant inverter
b) Single-phase bridge inverter
c) Three-phase bridge inverter
d) Voltage control inverter

Answer: b) Single-phase bridge inverter
Explanation: In a single-phase bridge inverter, four switches are arranged in a bridge
configuration, and to produce an AC output, two switches are operated at a time in a
complementary manner.

2. What is the primary advantage of using pulse width modulation (PWM) in inverters?

a) Higher efficiency
b) Lower cost
c) Simplicity of design
d) Reduced harmonics

Answer: a) Higher efficiency
Explanation: PWM control allows for precise control of the output voltage, resulting in higher
efficiency as compared to other modulation techniques.

3. Which technique is commonly employed to reduce harmonic distortion in inverters?

a) PWM modulation
b) Series resonance
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c) Parallel operation
d) Harmonic cancellation

Answer: a) PWM modulation
Explanation: Pulse width modulation (PWM) is commonly used to reduce harmonic distortion
by controlling the width of the pulses in the inverter output.

4. In a single-phase series resonant inverter, which component is used to resonate with the
load?

a) Capacitor
b) Inductor
c) Transformer
d) Diode

Answer: b) Inductor
Explanation: In a series resonant inverter, an inductor is used to resonate with the load
impedance, allowing for efficient power transfer.

5. Which type of inverter configuration requires a DC power supply with a floating output?

a) Parallel inverter
b) Series inverter
c) Voltage control inverter
d) Current source inverter

Answer: d) Current source inverter
Explanation: A current source inverter requires a DC power supply with a floating output to
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provide a constant current to the load.

6. What is the purpose of using voltage control in inverters?

a) To regulate output frequency
b) To adjust output voltage magnitude
c) To synchronize with the grid
d) To reduce losses

Answer: b) To adjust output voltage magnitude
Explanation: Voltage control in inverters allows for the adjustment of the output voltage
magnitude, which is crucial for various applications.

7. Which type of inverter configuration requires switches to be connected in series with the
load?

a) Parallel inverter
b) Series inverter
c) Voltage control inverter
d) Current source inverter

Answer: b) Series inverter
Explanation: In a series inverter configuration, switches are connected in series with the load,
allowing for controlled current flow.

8. What is the function of a current source inverter?

a) To provide a constant voltage output
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b) To regulate output frequency
c) To maintain a constant current output
d) To synchronize with the grid

Answer: c) To maintain a constant current output
Explanation: A current source inverter is designed to provide a constant current output to the
load, regardless of load impedance variations.

9. Which technique is commonly used to control the output voltage of inverters?

a) Phase control
b) Frequency modulation
c) Pulse width modulation
d) Amplitude modulation

Answer: c) Pulse width modulation
Explanation: Pulse width modulation (PWM) is commonly used to control the output voltage of
inverters by varying the width of the pulses.

10. In a three-phase bridge inverter, how many switches are operated simultaneously to
produce a three-phase AC output?

a) 2
b) 3
c) 4
d) 6

Answer: d) 6
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Explanation: In a three-phase bridge inverter, six switches are operated simultaneously to
produce a three-phase AC output, with each phase requiring two switches.


